Name:

GCSE (1 - 9)

Quadratic Simultaneous Equations

Instructions

 Use black ink or ball-point pen.

» Answer all questions.

» Answer the questions in the spaces provided

— there may be more space than you need.

 Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working out.

Information

» The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

* Read each question carefully before you start to answer it.
« Keep an eye on the time.

* Try to answer every question.

* Check your answers if you have time at the end
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1  Solve the simultaneous equations
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(Total for question 1 is 5 marks) !
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Solve the simultaneous equations

x4 ¥ =1
¥ =53

% + (=-3)y =17
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Solve the simultaneous equations

X+ 3y =34
x—y =2
£ = A7 b’
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(at9) + 9 =3¢
(219)(2 vy) vy =3
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(Total for question 3 is 5 marks) |




- 4 Solve the simultaneous equations

X+ 2 =20

3x =2-y
3xty= Z
‘ﬂ = A - B>

% +l2=32) =20
z* +{2~3x){%~3x) = 26
2* F 4 —bx —6xt+tGy" =

[0 -/2x + 4 = 20
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(Total for question 4 is S marks)



-5 Solve the simultaneous equations

2+ 32 =41
y=2x—3
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(Total for question 5 is S marks)



6 Solve the simultaneous equations
x*+3y2=20
2xt+y =3
Y= 3 —Loc

S 2
x° + (3 —2=x)

()

20
xt o+ (3-2x)(3 -2x) = 20
11 1_7—5;4611‘%11:20
o = jze 9 = 20
bx® —i2x, =41 = B

This will net ~/\aC7LDf.:'J\".

o= 95 b 27 2] L= =]

—_ ,biﬁz-*‘—/'ac
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o~ (-r2) T (a2)r —u(s) (1)
205 )

- A W B (35}) o —~0.708 (35})

y=3-2("3.11") gz _a2("-0705")
. =% 928 T Ex)) = L4 3sh

y= 280 42|

(Total for question 6 is 5 marks)
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Solve the simultaneous equations

X+ P =27

2% —p =3

2x =31
22 -3 =Y

7

X +(21~3)L = 27
x* + [2a-3)(22-3]= 27
Pt gatbaba T 2T
by —izx +9 T 27
Lw® 2 —1 8 = 0O

Aa=5 b==t2 C=—14

2= — (-12) Zl(2? —¢(s)(-18)
25}

= 344 Bsp) e —1.0y (351)

8:2(’&\“5)*3 j:-Z(a‘Ms)—?
= 3.¢9 Bs)) = =509 (3:4)

x= o:4%. 00 =l.0%
y= 2 81 Kl 6“00[

(Total for question 7 is 5 marks)
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8 Solve algebraically the simultaneous equations
x> —3» =13
2x + 3y =4
2&‘(’33 =Y
2x = 4 - 39
®x = Y4 “3\5
2
4 S - 2
K \)) —_ %\j = 173
2 v
4 — 39 U - 29 _ z =
( > )( = ) Zj i
z
/éw/'lj -2 + c?tj‘ _ ij_t (3
Lf
/6 —7/4/—7+?7 _ gvl = |3
Lf
J6—2¢y +99" —129" = 52
,331-2%3 + 16 = §12
'3:72—}%3,3@ = O
9° 4 gy +12 = -
(9 +2)(g9~+6) " °
%j:-L “j:""g
X5 4Tl

oy - 3(-1)
x = 5
= 5
I/-: "f'—j(.—é)
2
= /!

or X~/ 94=-§

(Total for question is 5 marks)
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9 Solve algebraically the simultaneous equations
2 - y* =14
3x + 2y =3
< 2
3 + 2y = 3 1(3;2\&) -9 = ¢
3 = 3Ty - 2
) 2 — 2 Z‘Q‘ﬁ _ =
x = 8 - 29 2( 3 JX ) Lj N
g ‘ B ~ + |
3 2( 6y 6y+‘fj) g =1y
l( 7 — 2y {—Lf(j )_j :l%
7
P 1 /
/8 ’2‘13#’5j ,'\jL‘.:/C,L
1
18 ~24y + 8y -T9 =126
d:j —_ Q,C{':j + (¥ = [ 26
_/jlvlt{/j~/08 = O
y* + 2%y +log T O
z = 3-2(¢) (y+¢ )Y cid)
S | R
-5 A
— 2(-14
~ = 3 2(-14)
S
= /3

or 1.=103 a//\tf‘( y:*/f

(Total for question is 5 marks)
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